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answers continued . . .

② The coordinate planes are :

✗y
- plane : contains ✗ and y axes , and is the graph of 2=0

✗z - plane : contains ✗ and z axes
, and is the graph of 1=0

YZ - plane : contains y and 2- axes
, and is the graph of ✗ = 0

③ The x-axis consists of all points (x, y,z) where both

4=0 and 2- =o .

These equations describe the x-axis
as the intersection of the ✗g-plane (5-0) and the
xz- plane @ = 0 ) . Similarly

4-axis : ✗ = 0 and 2- =o

z-axis : ✗= 0 and y
= 0

④ The octants are determined by specifying the
± signs for the ✗- coordinate of a point

,
the y- coordinate

and the 2- -coordinate

firstoctant_ would be all points (x, y,⇒
where ✗20

,

y 20 and 2- I 0 .

anotherotaut would consist of points CX, y,z:) where

✗ SO
,
4>-0 and 2- €0 .

Ohare are 8 possibilities . )
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